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QUESTION 1

When applying the Asynchronous Queuing pattern you aim to establish an environment in which:

A. an intermediate buffer exists between a service and its service consumer

B. temporary message storage is provided in case either the service or service consumer are unavailable
C. periodic re-transmission of a message is supported until it is successfully delivered

D. enforcement of consistent, uninterrupted, synchronous communication between service and service consumer are
guaranteed

Correct Answer: ABC

QUESTION 2

Which of the following is not required for an atomic service transaction to be successfully carried out?
A. participating services need to capture a snapshot of current data prior to making changes to it

B. a transaction management system that coordinates the actions of participating services

C. transaction participants need to be limited to atomic service agents

D. transaction participants must be able to commit changes or rollback uncommitted changes

Correct Answer: C

QUESTION 3

One SOA type can inherit the features and limitations of another SOA type with a broader scope. For example, the
environment and conventions established by the service-oriented enterprise architecture can be carried over into
individual service inventory architectures.

A. True

B. False

Correct Answer: A

QUESTION 4
Which of the following statements is true?

A. The Enterprise Service Bus pattern is primarily concerned with message processing logic, while the Orchestration
pattern is primarily concerned with service composition logic.

B. The Enterprise Service Bus pattern is primarily concerned with synchronous messaging logic, while the Orchestration
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pattern is primarily concerned with asynchronous messaging logic.

C. The Enterprise Service Bus pattern is primarily concerned with service composition logic, while the Orchestration
pattern is primarily concerned with message processing logic.

D. None of these statements are true.

Correct Answer: A

QUESTION 5

Which of the following statements regarding the application of the State Repository pattern is false?
A. State data can be temporarily written to and then later retrieved from a dedicated state repository.
B. Caching large amounts of state data in memory negatively impacts scalability.

C. A state repository is not useful for supporting long-running service activities.

D. Database technology is typically used for the implementation of a state repository.

Correct Answer: C
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